

			Vendor I	Ranking			Page 1 of 1
Letting:	03221013	October 13, 2022 02:00 PM	Call Order	: 007	Contract:	E3W38-R0	
District:	District 3		Counties:	DIST/ST-WIDE,	Fed Aid No:	: N/A	
Contract Time:	12/31/23 CO	MPLETION DATE		GADSDEN	Project(s):	42215127255 (*)
Contract Desc:	MIDWAY OF	PS ROUTINE MAINTENANCE	- MOWING	AND LITTER REMOVAL			

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	AMG OPERATIONS, LLC.	Responsive	Winning bid	\$526,294.47	100.00%
2	FLORIDA RIGHT OF WAY CORPORATION	Responsive	Non-Winning Bid	\$640,430.97	121.69%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



11/02/2022

Tabulation of Bids

Page 1 of 3

Letting:	03221013	October 13, 2022	Call Order:	007	Contract:	E3W38-R0
District:	District 3		Counties:	DIST/ST-WIDE,	Fed Aid No:	N/A
Contract Time:	12/31/23 COM	IPLETION DATE		GADSDEN	Project(s):	42215127255 (*)

Contract Descr: MIDWAY OPS ROUTINE MAINTENANCE - MOWING AND LITTER REMOVAL

The work under this Site Specific, Work Document-driven Contract in Gadsden County, consists of routine mowing of grassed/vegetated roadside areas in conjunction with the pickup, removal, and disposal of litter and debris. Mobilization and Maintenance of Traffic are incidental to the pay items listed.

Line No / Item ID Alternate Item Description	Quantity Units	(1) AMG OPERATIONS, LLC.		(2) FLORIDA RIGHT OF WAY CORPORATION			
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (I	LARGE MACH	IINE MOWING (AC					
0005 E107 1 1 LITTER REMOVAL	40,743.720 AC	6.00000	244,462.32	6.99000	284,798.60		
0010 E107 2 1 MOWING (LARGE MACHINE)	5,066.460 AC	40.00000	202,658.40	27.49000	139,276.99		
0015 E107 2 2 MOWING (SLOPE)	556.480 AC	100.00000	55,648.00	224.00000	124,651.52		
0020 E107 2 3 MOWING (INTERMEDIATE MACHINE)	163.120 AC	75.00000	12,234.00	225.00000	36,702.00		
0025 E107 2 4 MOWING (SMALL MACHINE)	49.230 AC	75.00000	3,692.25	225.00000	11,076.75		
0030 E107 2 5 WEED CONTROL, MANUAL	151.990 AC	50.00000	7,599.50	289.00000	43,925.11		
0001 LARGE MACHINE Sec MOWING (AC)	tion Totals:		\$526,294.47		\$640,430.97		



Tabulation of Bids

Page 2 of 3

Letting:	03221013	October 13, 20	22 C	all Order: 007		Contract:	E3W38-R0	
Line No / Item Item Descript		te Quantity Units	(1) AMG OPE	RATIONS, LLC.	· ·	RIGHT OF WAY		
() indicates item is bid as Lump Sum			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
Contract Grand Totals:				\$526,294.47		\$640,430.97		



			Tabulation of Bids			Page 3 of 3
Letting:	03221013	October 13, 2022	Call Order: 007	Contract:	E3W38-R0	
			to file a protest within the time pre			

120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.